5.10 Solving Trig Equations (with factoring)

Name:

Solve each equation on the indicated domain, show all of your work!

1. 2sin000s0:\/§cos<9

6 € {real number degrees}

0 +%0n
270 +30N
45+ 300N

55+ 30N

2. tanxsecx =tanx X e {real numbers}

™

3. 2sin*x+sinx=0 xe(—;r,;r)

0, %, 3L

4. 2cos’x—5cosx+2=0 xe[0,27)

I, 5T
33

5. 2sec’x—3secx—2=0 xe[0,27)

T, 5T
3 3

6. sin’x+5sinx+6=0 xe[0,27z)

NO Sounon

7. tan’x—secx—1=0 xe[-m,x)
I -T
-0 23 =2
8. tan’x+tanx=0 xe(—;r,;r)
-T"' 3
Ol 4‘- —4,—

9. 4csc’x+4cscx+1=0 xe[0,27z)

NO SOLUTION

10. 3-3sinx—2cos’x=0 xe[-7,7]

I, 5T, I
)
11. sin2x+\/§sinx:O 6[0,272')
S 3
O| i Al
. 4sin’ x+7sinx =2 xe[0,27z)

sin” (4)=x»
wouldneed 2 &luulxtor



